
Устный счет 

        50-30=            



Устный счет 

               50-30=20            



Устный счет 

      60-7=



Устный счет 

       60-7=53



Устный счет 

        40-8=
            



Устный счет 

      40-8=32
            



Устный счет 

     70-20= 
            



Устный счет 

    70-20=50 
            



Устный счет 

            20-6=
               



Устный счет 

     20-6=14
               



Устный счет 

    90-50=     



Устный счет 

    90-50=40     



Проверка сложением.

  37                24                    48

+                   +                      + 

   23                16                    42 

 ___                ___                 ___

  60                  40                   90           

                              



Задача
Дала- 50 руб.и 10 руб. 

Истратил-42 руб.

Осталось-?


